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Match #19


These questions are for use in the Virginia High School League’s Scholastic Bowl District competition. Shawn Pickrell, Jason Mueller, Adam Fine and Dan Goff are the authors of these questions.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before all VHSL District champions have been determined is prohibited. 

(b)
Releasing these questions to entities outside your District’s competition is prohibited. 

First period: 15 tossups, 10 points each
1.
In the sentence, “I gave Michael the prize,” what is the indirect object of that sentence?

ANSWER: Michael
2.
THIS IS A COMPUTATION QUESTION. What is the distance between the points (12, 24) and (6, 32)?

ANSWER:
10
3.
Its newest exhibit is devoted to Moe Berg, who introduced baseball to Japan during World War II.  Located near the Gallery Place Metro Station in Washington, D.C., what museum has exhibits on terrorism, cryptography, and pop culture, including Austin Powers and James Bond?

ANSWER:   International Spy Museum
4.
After the expulsion of the UN Emergency Force on May 19 and the closing of the Straits of Tiran on May 23, war became certain on May 30, when Egypt and Jordan signed a military alliance. What war started on June 5, when Israeli airstrikes destroyed most of the Arab air forces, and ended on June 11, 1967, with the capture of the Golan Heights, Gaza Strip, Sinai Peninsula and West Bank? 

ANSWER: Six-Day War

5.
Sheldon Glashow, Steven Weinberg, and Abdus Salam won the 1979 Nobel Prize in Physics for uniting it with electromagnetism.  Name this force whose carrier particles are the W and Z bosons.

ANSWER:
weak nuclear force

6.
Several numbers, such as 007 (zero-zero-seven), are not assigned, but 666 is “ceramic and allied technologies.” Categories in it range from 001 (zero-zero-one), which is “Knowledge,” to 999 (nine-nine-nine), which is “Extraterrestrial worlds.” American fiction is 813 in what numbering system used to order books in libraries by subject?

ANSWER: Dewey Decimal System (or Classification)

7.
Army Lieutenant Colonel Steven Jordan was charged with maltreatment of detainees stemming from his time as second in command of what infamous Iraqi prison?

ANSWER: Abu Ghraib
8.
He married the Duchess Sophia Charlotte and had 15 children with her, more than any other British monarch. His “madness” was probably due to porphyria, and for the last 10 years of his reign, his son ruled in an era known as the Regency. His brutal suppression of a rebellion in 1798 made him unpopular in Ireland. What English King is also unpopular in the United States for attempting to stop the American Revolution?

ANSWER: George III
9.
He invented a device called a cowcatcher that “pushes” potentially derailing objects out of the way of a train and was the first to try and use punch cards to perform calculations. What 19th century scientist wanted to use punch cards in his never-built Analytical Engine, a precursor to the modern computer? 

ANSWER: Charles Babbage
10.
The CIA and the overall conservative climate of the 1950s ironically promoted this style, as it was a reaction to the politically charged Socialist Realist paintings of Diego Rivera.  Max Ernst influenced what non-representational art movement exemplified by the work of Willem de Kooning and especially the “action painting” of Jackson Pollock?

ANSWER:  abstract expressionism 

11.
This author’s unrequited love for the soprano Jenny Lind is told in his story, “The Nightingale.” His self-perceived unattractiveness is told in “The Ugly Duckling.” What writer’s other stories include “The Princess and the Pea,” “The Emperor’s New Clothes” and the “Little Mermaid,” and whose statue stands in his hometown of Copenhagen? 

ANSWER: Hans Christian Andersen
12.
This man’s mother died when he was 19, and his alcoholic father passed away three years later.  A student of Christian Gottlob Neefe, he may have worked with Mozart in Vienna and definitely worked with Haydn (HIGH-dun), but their personalities clashed.  What man composed his first symphony in 1800, the only one before he started going deaf?

ANSWER:  Ludwig van Beethoven
13. 
He retired from the US Navy as a Rear Admiral in 1974, having spent 30 years with the Navy.  He was originally scheduled to be the pilot for Apollo 13, but he and his crew swapped with James Lovell and company.  Instead, he commanded Apollo 14, and hit a Spalding six iron that traveled for "miles and miles".  Who was this man, who more notably commanded Freedom 7, and became America's first man in space?

ANSWER: Alan Shepard
14.
Natta-Ziegler ones are used in polymer production and enzymes are biological ones.  Name this term for a substance that increases the rate of a chemical reaction without itself being consumed.

ANSWER:
catalyst
15.
74% of this city’s residents speak a non-English language at home. Despite its latitude the temperature has only broken 100 degrees once; the heat index says otherwise. What city, whose suburbs include Virginia Gardens and Hialeah, lies between the Everglades and Biscayne Bay and is associated with Dade County, Florida? 

ANSWER: Miami, Florida

Second period, 10 directed questions per team, 10 points each
Set A questions have an “A” after their number; set B questions have a “B.” 

1A. 
The ozone layer resides in what layer of the atmosphere, directly below the mesosphere?

ANSWER: stratosphere
1B.
What property is demonstrated by “If a equals b and b equals c, then a equals c”?

ANSWER:
transitive property

2A.
What two Latin words are used to describe a situation in which someone represents himself without a lawyer in a courtroom?

ANSWER: pro se
2B.
What effect explains frequency changes due to motion of the emitting object?

ANSWER:
Doppler effect

3A.
THIS IS A COMPUTATION QUESTION. What is the distance between the points (17, 11) and (22, -1)?

ANSWER:
13
3B.
What 1958 Alfred Hitchcock film starred Kim Novak in the two lead female roles and Jimmy Stewart as a detective with the title affliction?

ANSWER:  Vertigo
4A.
What three French words which literally mean “bottom of bag” refer to a dead-end residential street, or a neighborhood with only one street in and out?

ANSWER: cul de sac 

4B.
What small, silver Roman coin appears to have been the daily wage for a laborer around the time of Christ? 

ANSWER: denarius
5A.
What Fox News journalist was named the replacement to White House Press Secretary Scott McClellan?

ANSWER: Tony Snow
5B.
What ten-letter word, a synonym for “surrender,” comes to us from the Latin word for “chapters?”

ANSWER: capitulate
6A.
What First Lady had four children with her first husband, Daniel Parke Custis? 

ANSWER: Martha Washington
6B.
How many valence electrons does an atom of potassium have?

ANSWER:
one
7A.
What is the term for a number that is the same both forwards and backwards?

ANSWER:
palindrome
7B.
THIS IS A COMPUTATION QUESTION. In simplest terms, what is 3/7 times 5/9 times 7/15?

ANSWER:
1/9
8A.
Dorothea Brooke gives up her inheritance to marry Will Ladislaw in what novel by George Eliot? 

ANSWER: Middlemarch
8B.
Which network once aired the soap operas Santa Barbara and Another World, but today has only two soaps, Days of Our Lives and Passions?

ANSWER:    NBC (or National Broadcasting Company)

9A.
What Biblical character’s friends, Eliphaz (el-EE-faz), Bildad and Zophar, thought he had committed a secret sin to bring punishment on himself? 

ANSWER: Job
9B.
What children’s character is a doll that wears a blue and white dress, has red yarn for hair and has a friend named Andy that is also a doll? 

ANSWER: Raggedy Ann
10A.
What does the M in MRI stand for?

ANSWER:
magnetic
10B.
What island in New York Harbor was the entry point for millions of European immigrants between 1892 and 1924? 

ANSWER: Ellis Island

Third period, 15 toss-ups, 10 points each

1.
This poem ends the 1798 edition of Lyrical Ballads and begins, “Five years have past; five summers, with the length / Of five long winters!” What William Wordsworth poem’s full title is “Composed a Few Miles Above (BLANK), on Revisiting the Banks of the Wye During a Tour. July 13, 1798?”

ANSWER: “Tintern Abbey”

2.
Originally named Object linking and Embedding, in 1996, Microsoft changed its name to what we know today as a way to manage compound documents. Name this feature that handles multimedia in Internet Explorer as well as allowing Excel spreadsheets in a Word document. 

ANSWER: Active X Control 

3.
His novel Flow My Tears, The Policeman Said is set in a future police state. His novel, The Man in the High Castle, is set in a world where the Axis won World War II. What science fiction writer has seen several of his works become films, such as Paycheck, Minority Report and Do Androids Dream of Electric Sheep?
ANSWER: Philip K. Dick
4.
This mountain range’s name comes from a Quechua (kay-CHOO-ah) word meaning “high crest.” Some of its peaks include Chimborazo (cheem-boh-RAH-soh) and Aconcagua (ah-koan-KAH-gwah). The world’s longest mountain range is what range along the western coast of South America? 

ANSWER: Andes Mountains

5.
1995 was this director’s breakthrough year, as he helmed the videos for Montell Jordan’s “This Is How We Do It” and Notorious B.I.G.’s “Big Poppa”.  His trademarks are the letterbox split-screen image and artists demonstrating excess and decadence, such as in Jay-Z’s “Big Pimpin”.  Who is this hip-hop director that received the Video Vanguard award at the 2006 MTV VMAs?

ANSWER:   Harold “Hype” Williams
6.
THIS IS A COMPUTATION QUESTION. What is the prime factorization of 154?

ANSWER:
2, 7, 11 (can be said in any order)

7.
The uveal type of this disease occurs in the pigmented cells in the retina. Multi-colored moles larger than 5 millimeters are more likely to be this. Redheads have a higher risk of getting this disease contributed to by exposure to UV rays. What is the most lethal form of skin cancer?

ANSWER:
melanoma (prompt on “skin cancer”)
8.
Peugeot named a car after this man, and the airport on Reunion was also named in honor of him.  He made the first nonstop flight across the Mediterranean, and was a heroic fighter pilot in World War I before he was shot down in 1918.  Which man, though, is best known for lending his name to the tennis complex that has been the home of the French Open since 1920? 

ANSWER:  Roland Garros
9.
John Dryden called this Shakespeare play a “heap of rubbish” and rewrote it; there are no known public performances between 1734 and 1898. Most of the play revolves around Nestor and Ulysses trying to get Achilles back into battle and any love story is ruined when the male title character sees the female title character with Diomedes (DIGH-aw-meh-deez). What play, based on a Chaucer story, is set in the Trojan War? 

ANSWER: The History of Troilus and Cressida
10.
Zimbabwe had its membership in this international group suspended in 2002. South Africa was kicked out over apartheid between 1961 and 1994. Ireland and the United States are technically able to join. Despite being a former Portuguese possession, Mozambique is a member of what 53-nation organization of former British colonies?

ANSWER: British Commonwealth or the Commonwealth of Nations (prompt on “Commonwealth”)

11.
At the barbecue at Twelve Oaks, he points out there are no cannon factories in the South. He joins the Confederate Army after the fall of Atlanta, despite being rich from being a blockade-runner. What character in Gone with the Wind, the father of Bonnie, replies to “Whatever shall I do?” with, “My dear, I don’t give a damn”?  

ANSWER: Rhett Butler (prompt on partial answer)

12.
It started on the 18th of Fructidor (frook-tee-DOR) in Year One and ended on the 9th of Thermidor (tair-mee-DOR) in Year Two. The Law of Suspects and the Law of 22 Prairial (PRAY-ree-ahl) provided the legal cover for the Revolutionary Tribunal. The Committee of Public Safety, led by Maximilien Robespierre, emerged at the head of what brutal period of the French Revolution where thousands were sent to the guillotine?

ANSWER: Reign of Terror or la Terreur
13.
In January, Philadelphia celebrated his 300th birthday, even though he was born in Boston. Between 1776 and 1785, he served the United States as minister to France. He was so-well regarded that even before his death, settlers in what became Tennessee named their proposed state for him. What inventor of the lightning rod do you see if you are fortunate enough to have in your wallet a $100 bill?

ANSWER: Benjamin Franklin 

14.
At the age of 29, he left the luxury of his home, and spent six years wandering as an ascetic. He then sat under a tree, vowing never to rise until he found Truth. He then found the Four Noble Truths that were essential to achieving nirvana. What Indian prince then became enlightened, and had his ideas form a namesake religion?

ANSWER: Siddharta (sih-DAHR-tah) Gautama (GOW-tah-mah) or the Buddha
15.
It struck Memphis in 1878, Norfolk in 1855, Haiti in 1802, and Philadelphia in 1793.  Name this viral disease whose vaccine won Max Theiler a Nobel Prize and made Walter Reed famous.

ANSWER:
yellow fever
Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
Caused by the Variola virus, what disease was eradicated in 1979 and had a vaccine for it developed in 1796 by Edward Jenner?

ANSWER:
smallpox
2.
He is the United States’ largest private landowner, raising buffalo that are served at his Montana Grill restaurant chain. In 1998, he gave $1 billion to the United Nations in the form of Time Warner stock. In 1986, he created the Goodwill Games; ten years earlier, he bought the Atlanta Braves and Atlanta Hawks. What TV mogul bought Atlanta’s Channel 17 in 1970, founded CNN in 1980 and founded TNT in 1988? 

ANSWER: Ted Turner
3.
In the Ring of the Nibelung (NEE-buh-loong), the giant Fafnir transforms himself into one of these creatures.  Tiamat from Babylonian myth is a multi-headed one, while in the Far East they can fly without having wings.  Smaug in The Hobbit is also an example of what fire-breathing reptile, fought in a Christian story by St. George?


ANSWER:  dragon
4.
THIS IS A COMPUTATION QUESTION.  What is the value of y if a matrix with top row 4 and y and bottom row 6 and 3 has a determinant of zero?

ANSWER:
y equals two
5.
This four-letter word comes to us from a Latin word meaning “round object.” When paired with “out,” it is a way of retiring a batsman in cricket, and when paired with “over,” it means, “to take by surprise.” What word refers to a game played with an 8 to 16 pound ball, a large, open-air stadium or the activity in which you are competing?

ANSWER: bowl
All questions ©2006 by the question writers. Unauthorized use, as described on the first page of this document, is prohibited.

